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| Semester All U.G. Courses Examination, February/March 2023
(NEP Scheme)
BUSINESS ADMINISTRATION
Business Organisation (Open Elective)

Time : 2% Hours Max. Marks : 60

Instruction : Answer should be completely written in English or Kannada.

PART - A

I. Answer any five sub-questions of the following. Each sub-question carries
2 marks. (5%2=10)
CORFTRTTR 00 LT-TFRER GUZ0R. T3 WT-T,Z 1 QTR B0T0.
1) a) Define Business.
:%amcﬁmaq 232,803, QA

b) What is genetic industry ?
ROBOdT YUT, R0 0TS ?

¢) Who is an active partner ?
73,030 TLOTT 0TIT C3RTL 2

d) State any two features of co-operative society.
ITEO FoFPT CRPTTTR STBE CTLNTIY, SR
e) What is departmental undertakings ?
QTR BWTT ,ﬁo:\jpﬁ% QTR0 ?

f) What is marketing mix ?
TRTFE, W39 0TTER ?

g) Define management.
QAWETTODY, 3,0, VR

PART -B

Il. Answer any three of the following. Each question carries 4 marks. (3x4=12)
B3 BONST CINRRTTETR BT B,3 nert eu3ox. B,8 B3 n mwﬁeﬂoﬁﬁeﬁa.

2) Discuss the social responsibility of business towards employees.
TR, CARY BET = TTITT TOBRRT WA ooy, WUFA.
) ) P.T.0.
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3) What is partnership deed ? What are its contents ?
TOLOTOT UTOTT T, CTWTERD ? BWT L0BNT TN ?

4) State the main objectives of State enterprise.
mz:?:wcséabd m:aaﬂ emcz eBNFO SRR ?

5) Explain the role of SEBI.
SEBI m@ﬁaﬁgﬁ NWOR.

6) State the merits of a sole trading concern.
28 T3 9,30 :doxi ol RIBRTNFRY, S9A.

PART - C
lll. Answer any three of the following. Each question carries 10 marks. (3x10=30) S

53 BINT CIRYTIITTR T0RTY T[,JNT GVZ0R. B, ®,I 1 TRy SO0,
7) What are the essentials of a successful business ?
0032, 33,TT FOF oD 08, N ENTesd ?
8) Briefly explain the different types of companies.
WG De3cH ﬁcﬁ%ﬁ@ﬁg{ :soéga'aﬁ WO,

9) What is public corporation ? Explain its merits and demerits:
TR RIT :do:;; ROTTER? BTV LROBROND B @mmmeﬁ@@n Q0.

10) What is pricing ? Briefly explain the clifferent methods of pricing policies.
WS 20TTeR ? WS dedng ARG ITITNTIY TOFToN ITOR.

11) Explain the functions of management.
QTFBBOD ToO0F T DO ~

PART -D
IV. Answer any one of the following. It carries 8 marks. (1x8=8)
33 9N CIRPY BT 2.0 T3 LVZOR. 2,080 TI T Q08 03D,

12) Draw a business tree.
59,320 3,3, WICWO.
OR/eg=

Prepare an organization chart.
mﬁ@oia 23‘::&3‘??;9?.’% SOCR0A.




